[image: ]Chapter 4 assessment (CFA in Mastery Connect)
1. The equations  and  are graphed below. What are the solutions to the equation ?

A   and 
B   and 
C   and 
D   and 


2. What are complex solutions to the equation?
A  	B  	C  	D  

3. Tobias is asked to solve the equation . His work is shown below. Based on his work, Tobias states the solutions to the equation are . 
[image: ]                                                                                 
a. Unfortunately, Tobias is incorrect. Explain the flaw in his reasoning.

b. Determine the correct solutions to the equation.

4. Solve 
A  -1		B   1 		C 		D  
5. [image: ]A rectangular piece of land measures 20 feet by 15 feet. James created a cement sidewalk, x feet wide to border a rectangular garden on all four sides as shown below. If the garden has an area of 150 square feet, how wide is the sidewalk?

A  12.25 feet
B  6.12 feet 
C  5 feet
D  2.5 feet

6. Marissa is playing a game at the carnival that requires her to hit a spring with a large hammer. After the spring is hit, a puck shoots upward towards the bell. Marissa hits the spring according to the model. , where  represents the distance between the puck and the bell and x represents the time after hitting the spring (in seconds).
a. What type of solution(s) does the equation   have?

b. Will the puck hit the bell after Marissa hit? Why or why not?

7. What are the solutions to the equation 
A   		B  		C   		D   

8. The dimensions of a square table are x inches by x inches. The table has adjustable sides of the table are lifted up, the table is extended by 5 inches on each end of the table, as shown by the diagram. The total area A, in square inches, of the table when the adjustable sides are lifted up is a function of the distance x in inches. Write the quadratic function A(x), in standard form that represents the total area of the table when the adjustable sides are lifted up as a function of the distance, in inches.                                                             
[image: ]





9. Anthony is solving the equation  by completing the square. What number should be added to both sides to complete the square?
A  20		B  36		C  52		D  144

10. The graphs of the equations  and  intersect at 4 points. Which of these is a correct statement?
A   must be a solution to the equation and to the equation .
B  The number of solutions to the equation  and the number of solutions to the      equation  must be 4.
C   must be a solution to .
D  The number of solutions to the equation  must be 4.

11. [image: ]In her playhouse Josie turns a balloon full of air loose that follows the path in the drawing below and the equation . Where will the balloon hit the ceiling if the ceiling is the x-axis (y = 0)?

A no solution    	
B  (-1, -8)		
C  (-4, -8)		
D  (0, 0)                         
[bookmark: _GoBack]
                                                   
12. Us the binomial theorem to expand the complex number . Simplify the expansion.
A  		B  		C 		D  

13. [image: ]A table of values was created for the system of equations below. Using the table of values, find the solutions to the system of equations. Select three that apply. 

A (-3, 0) 		
B (-2, 4)		
C (0, -6) 		
D  (1, -8)
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Atable of values was created for the following system of equations.

90x) =-2x-6

{m) =x+ 2 5x-6

x x) gx)
4 18 2
-3 0 0
-2 4 -2
-1 0 -
0 - -
1 - -
2 0 —10

Using the table of values, find the solutions to the system of equations.

Select three that apply.
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The equations

M x=-8andx

M x=-6andx=10
M x=4andx=4
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Part A:

Tobias is asked to solve the equation —x? + 6x — 18 = 0. His work is shown
lis work, Tobias states that the solutions to the equation are

below. Based on
x=3t3V3

+Ve? - a()(-18)

2
-6+ V36472

=3%3v3

Unfortunately, Tobias is incorrect. Explain the flaw in his reasoning.

Part B:

Determine the correct solutions to the quadratic equation.
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A rectangular piece of land measures 20 feet by 15 feet. James created a
cement sidewalk, x feet wide, to border a rectangular garden on all four sides
as shown below.

20 ft

[

X Garden 15 ft

(Not to scale)

If the garden has an area of 150 square feet, how wide is the sidewalk?
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The dimensions of a square table are x inches by x inches. The table has
adjustable sides across from each other that lift up to make the table larger.
When the adjustable sides of the table are lifted up, the table is extended by 5
inches on each end of the table, as shown by the diagram.

—5— —5—

The total area A, in square inches, of the table when the adjustable sides are
lifted up is a function of the distance x, in inches.

Enter the quadratic function, A(x), in standard form, that represents the total
area of the table when the adjustable sides are lifted up as a function of the
distance x, in inches.

Alx) = type here...

Post a Comment

n @ W

arr

~| TVFE Multiple Cnoice
(Single Response)

Question #6
e 658504

s A2ZN.CN.B.3
rvee: Extended Text

Question #7
Tine: 221228

10 A2N.CN.B.3
rve: Multiple Choice
(Single Response)

Question #8
Tine 675416

s A2FBFA1a
Tvee: Text Entry

Question #9
Tine 620663

10 A2N.CN.B.3
rve: Multiple Choice
(Single Response)

Question #10
Tine: 647115

510 A2A.RELD.6
rve: Multiple Choice
(Single Response)

Question #11
e 613337

Scoring

Total Score:
A2NCNB3 M9 OmTAS
A2ACEDA1  M2om2 Al
A2ARELDS M5 omé a3

A2FBFAla 10T KO

P1s:2

ers:1

es:1

ers:1

ers:1

ers:1

17
9
2
5

w1





image5.png
MasteryConnect : materials

<« c @ © @ nttps://appmasteryconnect.com/materials/2619478 n@o ® =
Chapter 4 Assessment ~
 Bookmarks v x
Cuass: Algebrall | suBJECT Math | STHDARD: Mult )
> [ Bookmrks Toolbar 2 Question #8 Frsi1 A
e 675416
~ [ Bookmaris Menu s A2FBFAlLa
~ B Mol Firefox N x-axis Tvez: Text Entry
@ Help and Tutorials. I Question #9 ers: 1
. e 620663
Customize Firefox - 10 A2N.CN.B.3
[ Get Involved Tvee: Multiple Choice
D avout s Y-axis (Single Response)

Question #10 mrs
> £ Recent Togs me 647115
y=-x2-5x-12 so. A2A.RELD.6
cdugoodies:SCS e Multple Choice
E edug In her playhouse Josie turns a balloon full of air loose that follows the path in (Single Response)
B Poveteacher the drawing and the equation given above. Where will the balloon hit the Coestion #11 —
B Ml - CARTERTNZ @52 ceiling if the ceiling is the x-axis (y = 0)? e

W Weebly - Createa free webs.. 10 A2A.CEDA1

Deltabath M Nosolution (Wf'fg“ﬂ!“:;es';o C'";:;“

h Login | Hero

@ MRS, CARTER ALGEBRA 2.. m i !
2§ Home - Tennessee Classro.. m .9 :x:\lﬁ-“ |im|léBc';:.oice

2% Home - Tennessee Compre... (Single Response)

S5 Cordova High School m oo Question #13 ers:3
@ Mathematics g;z Aszs.&.téé ]

3 201620 Curiculum Maps .

Scorin;

Other Bookmarks

@ Post a Comment g
Total Score: 7
AINCNB3  mMSorTAs 1.9

A2ACEDA1  M20T2A1 T2

A2ARELDS ~ M5OTEA3  T.5
Post Comment
A2FBFAla  M1om1A0 T

12:12PM





